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=$500 =$500

X1 & 3F ¥ 2% B S =—$4,000+$500=—$3,500
£ 2% B B =—$65,000+$65,000-$15,000=—815,000
X2 & 3F ¥ 20 B B =—$4,000+$500=—$3,500

X2 # 3 4 & 47 F 2 % B FH=$100,000-$65,000+815,000=350,000
X3 &8 @ 5L F 2 &P P8 =-$50,000
28. [##45]
B
A W1 B LY (M)
X1£11"2p X1£117 2p
W 1,900,000 PRI
s 1,900,000
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s BReit BERHE EERN
X1#12731p X1#127 31p
WRAEF -0 L LR 50,000 k2 Td ERT A 98,039
A3 50,000 R F -0 L s 98,039
X2#41 307 X247 30p
FRAPE -2 L EwEE 150,000 k2Tl ERT A 201,961
2 150,000 FRALE -2 L B 201,961
& 300,000
2T ERT A 300,000
s
PG IE P~ b FR1E-FH LY (THINL)
X1#1172p X1#1172p
FE 1,900,000 C IR -
R4 1,900,000
X1#12%31p X1#12731p
WA E-o L EEE 50,000 W2 iTd AR T A 98,039
R 50,000 FRAR -0 L R 49,020
OCI—i& ¥y & ¥yt 4 OCI-i& ) & ¥ fp it s 49,019
—E A B 33,333
VSR R R 33,333
X247 30p X2#41 308
FRAFE -2 LW EEE 150,000 Wig2 il ERT A 201,961
Fh 150,000 BRI E -0 L B 150,980
OCI—i& 4y & ¥ dp 38 4 OCI-i& ) & ¥ fp it s 50,981
—E AR 66,667
VR R R 66,667 | . & 300,000
Wik 2 il AT A 300,000
FiR=
WG IR —FE KGR i1 Lg LY (ThHA)
X1#1172p X1#1172p
AR CIAE 2
X1#12%31p X1#£12%31p
WG F -0 R s 49,020 Wh2 A BT A 98,039
i f f-kE 49,020 WG E -2 Y B 49,020
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E£+E EmeEH BEEHE EEWRF
OCI-ig #F & ¥ fp 30 A 49,019
X247 30p X2#47 300
R F - W Ak 150,980 R T ERT A 201,961
S R T = 150,980 R E -0 L B 150,980
23 1,700,000 OCI-ig #F & ¥ fp 30 A 50,981
H#ff—mOURE 200,000 e 300,000
AOCI-:g 4 & ¥ 354 100,000 R T ERT A 300,000
R4 2,000,000
B
B IT D TR 2 A EH1E BB A Y ()
X1#1172p X1#1172p
F s %A A
X1#£12% 31p X1#£12%31p
A R T ERT A 98,039
OCI-#'G i ¥ - & in &
Kﬁ 98,039
X2#4% 307 X2#4730p
LI 1,700,000 WR2 fTE AR T A 201,961
OCI-3 & = & #'% OCI-#'&4f ¥ - & n £ w4 201,961
—E A KB 300,000 NS 300,000
e 2,000,000 #h2 T ERT A 300,000
29. [f247)
-
AERIEP -5 B FVPL—:f 3% ¢
X1&#4%1p X1#4%1p
RS 500,000 BEFFRS LB EFEERT A 100,000
i 500,000 & 100,000
X1#12731p X1#12731p
LS 20,000 ERT AR E 20,000
3 20,000 SEFERD L EFEERTA 20,000
X2#3%31p X2#3%31p
CRNRS 10,000 EBT AL 50,000
HF 10,000 BEFERS L EFEERTA 50,000
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s BReit BEYHE BEET
Ri 500,000
2 470,000
SEFERO LG EFEERTA 30,000
i =
W - W1 EE R ()
X1#47 1p X1#47 1p
A 500,000 W2 TS ERT A 100,000
N 500,000 IS 100,000
X1#12%31p X1#12731p
BRI E - L Ewg 20,000 BRI E - L Ews 20,000
2% 20,000 W2 TE AT A 20,000
X2#£3731p X2#3731p
BRI E - L Bk 10,000 BRI F - o Ewk 50,000
2% 10,000 W2 T ERTA 50,000
EI 500,000
W2 TE AT A 30,000
2 470,000
Him =
WRIEP - h Wie 12 ERE (P 7))
X1#47 1p X1#47 1p
2 500,000 W2 TS ERTA 100,000
e 500,000 N 100,000
X1#12%31p X1#12731p
BRI E -0 L s 20,000 OCI—E # fg p5 [ i§ & 40,000
A% 20,000 W2 ERT A 20,000
WG E - L Ewk 75,000 BRI E - i Ews 20,000
OCI-E # fEp5 I ff ¢
75,000
A
X2#3731p X2#3%31p
BRI E - L R 10,000 OCI- & P i (& 60,000
A% 10,000 W2 ERT A 50,000
WRATE - L Ewk 25,000 BRI F - L Ews 10,000
OCI-E# T & 25,000 | R £ 500,000
—E SR B2 ERT A 30,000
A 470,000
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E£+E EmeEH BEEHE EEEN
Fmw
WL P A W1 E—E R ()
X1#4%1p X1#4%1p
ey Wk i) AT A 100,000
3 100,000
X1#12%31p X1#12%31p
ey OCI-i 6 4 ¥~ & if £ @& 20,000
WE2 A ERT A 20,000
X2#£3%31p X2#3%31p
nE 500,000 OCI-#'& 4f ¥ - & in & 'R 50,000
Wik 2 Tt ERT A 30,000 WiR2 L AT A 50,000
OCI-R & it R —€ A i 70,000
e 400,000
30. [#347]
X1#19 1p X1#34931p X1#6%30p
PoOEREMNZRE $ 0 $ 40,000 $ 100,000
FOERERT Y@ $ 60,000 $ 25,000 $ 0
®OERES LY E $ 60,000 $ 65,000 $ 100,000
0 OERErFHE S 0 $ 0 $ 0
FOERERT Y@ $ 20,000 $ 10,000 $ 0
O OERESLHE $ 20,000 $ 10,000 $ 0
Ldp TR &% 6 g
WG — W1 L —FEE
Xl#17% 1p Xl#&17% 1p
W p 1,000,000 Wh TS ERT A 60,000
S 1,000,000 n& 60,000
& 20,000
k2 A Bkl G 20,000
X1 &3% 31p X1 &3% 31p
WG E - L B 40,000 R Tt T A 5,000
2 40,000 BRI F -0 g 5,000
EEGRREAG IR EAS0T LRG> Ry @RS AR G 10,000
PRGNS A3 o (R R 357 i AL > 2 FEHE -2 i mEs 10,000
HE)
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Bt+s e BEEIHE EEBR
X1 #671 300 X1 #671 300p
WA E -0 L B 60,000 R T ERT A 35,000
W 60,000 BRI E - b s 35,000
W2 4T AR 10,000
WG E - R 10,000
i 100,000
R T A RT A 100,000
24p P 7 W ER E RS
E R EPET 1§ E=3$60,000-$20,000=840,000
X1# 1% 1p~X1#37" 31 pEfEpprRf s #il=2340,000x3/6=$20,000
X1 #4727 1p~X1#6" 30pEHEFHREY EA Flic=3540,000x3/6=$20,000
WEGITD — 5 R WL —ERE
XI1E#1*%1p X1 &1 1p
a3 1,000,000 Wih 2 T AT A 60,000
R4 1,000,000 M4 60,000
R4 20,000
R ERp G 20,000
X1 #3074 31p X1 #&3% 31p
R E - L L 40,000 a2 T BT A 5,000
2 40,000 |OCI-:E # R i & 35,000
R E - v BER 20,000 BRI E - L s 40,000
OCI-E#HEPFF Y E—E AW AKE 20,000 #'&2 72 £ f G 10,000
OCI-E#HEFE Y & 10,000
X1 #6% 300 X1 & 67 300p
WG - i BEE 60,000 W2 T AT A 35,000
CA 60,000 OCI- # £ p /F i & 25,000
WG - i BEE 20,000 BRI E - g 60,000
OCI-E H IR §f € A 550 & 20,000 #'&2 72 £@ ) G 10,000
OCI—E # P/ i & 10,000
4 100,000
W ARTA 100,000
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®+E BREHt BEEHE EEEN
3.
X1#191p X1#3731p X1#£6730p
POESEM IR E $ 0 $ 40,000 $ 350,000
§OEBREPFTYE $ 60,000 $ 25,000 $ 0
B O EREES LY E $ 60,000 $ 65,000 $ 350,000
§F OEEEMNZRE $ 0 $ 0 $ (50,000)
§OERERETYE $ 20,000 $ 10,000 $ 0
®OERESLHE $ 20,000 $ 10,000 $  (50,000)
()i THAE B % 0 g
BRI D — 5 B BRI E —E R
X1 &671 30n X1 & 67 30n
BRI E - L E@E 260,000 W2 Tt AT A 285,000
EA) 260,000 B E -2 R s 235,000
ERT AT E 50,000
ERT AT E 50,000
W E -2 R s 10,000
W2 TA Bl G 40,000
i 300,000
W2 it A 300,000
240 F R ER ERHEE
EH T E=560,000-$20,000=$40,000
Xl#1% 1p~X1#37 31 pEHfEp i § Es #idc=3$40,000x3/6=$20,000
X1 #47 1p~X1#E6" 30 pEHApEHFRE G EA Fric=3$40,000x3/6=$20,000
WEEIE D — 5 b WL R
X1 & 67 30p X1 &6 30p
BRI F -0 iy E#s 260,000 WA AT A 285,000
R 260,000 OCI—E % jE P& ¥ i & 25,000
WA ek 20,000 N Bk 260,000
OCI-E #H P i E—& A 253 & 20,000 BT AR 50,000
ERTATNHF 50,000
OCI-E# P 10,000
Wik 2 L Bk 40,000
n& 300,000
R iTA A RT A 300,000
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